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SUMMATIVE ASSESSMENT — I (2016-2017)
ENGLISH COMMUNICATIVE
Class - X

Time: 3 hours Maximum Marks: 70

Instructions :
The question paper is divided into three sections.

SECtiUH A H REﬂdiﬂg Eﬂ murlgs
Section B : Writing and Grammar 25 marks
Scetion C s Literature 25 marks

SECTION A : READING (Reading : 20 Marks)
Read the passage given below and complete the sentences that follow : (1x8)
The Chinese proverb — Without rice, even the cleverest woman cannot cook - is truc for
innumetrable Indians too. laten simply hailed rice is the world's most important basic type of
food. It's also delicious as Pulao, Biryani, Idli, Appams, Kheer or puddings, The gram 1s
available in a myriad of varicties the world over. It's not fattening, contrary to some urban
myths; scientists and diet experts know that rice 1s good for you and can’t make you heavier.
It mainly comprises carbohydrates that do not add kilos, if consumed in moderation, “Rice is
not fattening”, says Richa Anand, chief dietician at Dr. L.IL Hiranandani Hospital Muimibai.
An average 100 gram serving of rice has only about 0.4 gram of fat. In fact this serving has no
more than 100 calories. 'And', wriles noted culinary expert Tarla Dalal, 'rice has
approximately the same calories as whole wheat and hence 13 not more fattening.
It's easy to digest. Rice Janji is, therefore, a home remedy for diarrhoea. In fact the Janji, with
a few accompaniments, like coconut chutney and cooked beans, malkes for a healthful meal
that millions in Kerala enjoy. White or brown? Unpolished brown rice may not be as popular
as white, but is a good source of complex carbohydrates providing starch and fiber. It takes
relatively more time to digest allowing the body to consume the energy released over an
extended period. Brown rice is also richer in B, vitamins, vitamin E and mincrals like
manganese and selenium, which malke it more nufritious than the while varieties. However,
white rice, too, has calcium and the essential B vitamins niacin and thiamine. It's healthy
since rice has no cholesterol or sodium; it is safe for those suffering from hypertension.
Diabetics who prefer rice daily could choose brown rice after checkin g with their doctor,

(a)  According to the writer, rice weight,
(b) A 100 gm serving of rice has calories.
(c) Brown rice is good for people who suffer from

(d) The Chinese proverb holds true for Indians because =~ |

(e) What is the urban myth about rice?

(D ____is a home remedy for diarrhoea.

(g Brown rice is a good source of _ providing starch and [iber

(h)  The word from the passage which means ‘a medicine or treatment for a disease * is

Read the passage given below and answer the questions thal follow: (2x4)+(1x4)=12

It's no less than a pilgrimage for those who come to our shores for medical treatments.
Medical tourism in India is on an upswing, with about 5,00,000 foreign patients travelling to
India tor medical care. 'The current worth of the industry is estimated at 1,000 crores, with a
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growth potential of 100 percent every year. The industry is poised to bring in as much as Rs.
5,000 to 10,000 crores by 2012.
Many factors contribute to the expansion of this sector, one of them being the high end
faciliies. “Only when we go to different countries do we realize how much beller off we are
i terms of infrastructure and quality. The country has the resotirces to be on the global map
for medical tourism as it has a combination of all the right ingredients,” says Dr. Rajendra
Prasad, senior consultancy neurosurgery.
ndia is also renowned for its talent pool and the doctors are known for their expertise and
knowledge. Cutting cdge medical technologics and drugs available are on & par with the
developed world. The cost factor is another big reason [or the popularity of India as the
modical destination the difference being as much as 10 or 20 times.
The culture of ‘Athithi Devo Bhava' extends into medical tourism, with quality facilities being
offered by hospitals to international paticnts. Super specialty hospitals are successfully
providing unparalleled medical freatment to patients, resulting in superior oulcomes, VELy
low risk of infections and excellent post surgery care. The whole experience can be simply
termed as ‘value for money’.
Medical tourism is undoubtedly a fast growing sector. [t is felt that the government is not
doing enough to promote this sector. The Ministry of Tourism should pitch in a big way with
more financial support to stakeholders and betler infrastructure facilities. More liberal loans,
tax benefits and incentives to medical service providers will go a long way in giving a boost to
this industry. Promoting medial tourism would mean more employment opportunities for
our people, more goodwill for the cotntry and more dollars [or the government treasury.
(a) What is the status of medical tourism in India?
(b)  Menton two factors which have contributed to the growth of medical lourism in
India.

(c) What is most remarkable about our super speciality hospitals?

(d)  Whatsteps should the government take to give a hoost to medical tourismy?
(e) What is meant by the word " upswing'? (l'ara 1)

(i) energy (i1) height
(iif) ~ power (iv)  growth
(f) What is meant by the word’ expansion’? (Para 2)
(1) progress (ii) growth
(ili) ~ power (iv)  grandeur
(2) What is meant by the word ‘renowned’? (Para 3)
(1) known (i1) famous
(1)  popular (iv)  successful
(h)  What is meant by the word “unparalleled™?
(1) matchless (ii) great
(1)  attractive (iv)  magnificenl
SECTION B : WRITING AND GRAMMAR (23 Marks)
3 Festivals are meant to spread happiness. However, we often tend to impose our idea of 3

celebrating a festival on others. 15 1t right to forcefully apply colours on people during Holi ot
burn crackers late at night on Diwali 7 Write your views on the same in an article in about
100-120 words.

4 Write the story in about 150-200 words beginning with the following line andgive it a 10
suitable title.
" T was walking alone near the sea beach, when suddenly I heard somebody sobbing...”
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Read the paragraph given below. Fill in the blanks by choosing the most appropriate words
/ phrases from the given options.

At (a) moment, there was a flash of light from (b) . Priya and Taarak
looked up in alarm. Il was (c) ______todiscern the face but the voice was unmistakable.
I ¢ A N €Y I ) (iv)

(a) | the that | a 50INe

(b) | the left | below | the right | abave
(c) | difficult | easy | possible | rare

The fullowmg paraglaph has not been edited. There is one etror in each marked line. Write the
error and the correction in your answer sheet against the correct blank number. The first one has

been done as an example.

Error  Correction
Plant-eating mammals are most fully developed atbirth ey, mosl more
than predators. One of the main survival trait of such  (a)
creatures as deer and wild beast is its ability to hide and (b)
run during danger and the sooner they do it the (c)
better, The slighter slackness can be deadly. (d) 3
Rearrange the following words/phrases to malee meaningful SEHteI’lc25,

(a) voice/ I listened /because/1/ her / loved
(b)  used/in/to/the morning/she/wake me up
(c) always/on her face/there/a pleasant/was/smile
SECTION C : LITERATURE (25 Marks)
Read one of the extracts given below and answer the questions that follow:-
The two boys were seated at the bedside of a girl of about twenty - two, propped up on pillows, wearing
a pretty lace jacket, who was listening to thetr chatter, her eyes soft and tender.
(a) Whao are the two boys ?
(b)  Why are they sitting at the bedside of a girl ?

(c) What does the phrase, "propped up’ mean ¢
OR

[ am silver and exact.l have no preconceptions,

Whatever I see I swallow immediately

Just as it 15, unmisted by love or dislike.

I am not cruel, only truthful-

The eye of a little god, four-cornered,

(a) By saying, “I am silver and exact”, what does the mirror claim to
be ?

(b) How is the mirror unmisted by love or dislike’ ?

(<) What does the word, "preconceptions” mean ?

Answer the following questions in about 30-40 words each.

Why does Shakespeare compare monuments with his poetry ?

What did the villagers do to help Mrs. Packletide realise her ambition to Kill a tiger ?

The postmaster says to Ali, “What a pest you are, brother!” Do you agree wilh lhe statement?

Give reasons for your answer.

Why does Mrs, Slater tell Henry to put on grandpa's slippers and shift the bureau to their

room ? |

Answer one of the following questions in about 80-100 words:

Even at the time when the grandfather is supposedly dead, the sisters are trying to pull each

3
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sther dowr. With reference to the play, The Dear Departed, mention the Lraits that the sisters
display. Do you approve of them 7 Give a refg?{rmd arswer,
Our self-image is often based on what others make us beclicve we are. %j'ith reference o thf?-
poem, The Frog und the Nightingale, wrile an article on ‘Poor self- image can be seli-
destructive
Answer one of the following questions in about 150-200 words:
How does Anne [eel living in the Secret Annexe ? Describe.

OKR

Write a detailed character-sketch of Anne Frank as a writer.

OR |
Education is a useful tool to identify the mysteries of nature and pleasures of life. Discuss with

reference to "The Story of My Life’.
OR

Write the character sketch of Miss Sullivan as a wonderful teacher.

-oloUolUg-
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SUMMATIVE ASSESSMENT-1 (CLASS-X) 472016
SUBJECT : MATHEMATICS (SET-A)
Time : 3 Hrs. M.M.: 90
General Instructions :

1. All questions are compulsory.

2. The guestion paper consists of 31 questions divided into four sectiuns
A, B, C and D. Section-A comprises of 4 questions of 1 mark each;

of 10 questions of 3 marks each and Section-I) comprises of 11 quesiions
of 4 marks each. |

3. There is no overall choice.
4.  Use of calculator is not permitted.
SECTION-A

Q1. Leta= 8" where n is a natural nummber. Check whether there is any value of

n [or which 8" ends with the digit zero.

Q2. Siale whether the [ollowing quadrilaterals are similar or not. Give reason.

D 25cm G S 3 em A
O 45’ o2
)
A 2.5 em 2 = 3 am Q]

(3. Write any two zerocs ol y = [(x) whose sraph is shown in the given figurﬁ;

v

([L-1)



Q4.

Q3.
Q6.

Q7.

(3.

Q9.

Find the lower limit of the modal class of the following frequency distribution

s

. [:)_1(:} | 10_20 ‘ 20_30 10-sJ

| (Class Intérval - 30-40

3| 7 6

[Freguency 5 3

SECTION-B
If cos (40° + x) = sin 307, find the value of x.

aolve for x and v by the method ol cross multiplication

The mean of five observations x, X+ 2 x+4, x+6 and x + 8is 11. Find the
value of x. | ,
In the diven figure, PQ = 24 cm, QR = 26 cm,
PK = 8 ¢m, RK = 6 cmand £QPR = 90°, I"ind
the measure of ZFPKIR

[[ the product of zeroes of the polynomial
4y — Bx— 6 is 4, find the value of ‘a’.

c]

1

Ql10.1f tan (x+y) = /3 and tan (x -yl = 7 find x and y.

Q11. Without actually performing

SECTION-C

7
— and

30

the long division, statc whether

99
92 2 B %7

= will have a terminating decimal expansion or a non-Lerminating

repeating decimal expansion. I terminating, write down the decimal expansion

also,

Q12. Find the median of the following frequency distribution :

Class Interval

0-10

10-20

20=§€1

30-40

40-50

Frequency

7

20

8




Q13.

Q14.

Q15.

Q16.

017,

(318,

@19,

Q20.

@21.

Solve [or xand v :

" 4
—+5}7:7
X
£+4y;5
X

Find the value of tanB0° geametrically.

1 -3
SHow IHAL < and =

5 5 are the zeroes of the polynomial 44 + 4x - 3 and also

verify the relationship between the zeroes and the coefficients of the polynomial.

Find the mode of the tollowing data :

Weight (kg) 4045 | 4550 | 950-55 | 5560 | 6065 | 6570 | 70-75
Number of students 2 J 8 G G 3 2

In APQR, right-angled at Q, PR + QR =25 em and PQ = 5 em. Find the values
of sinP and tanR.

L BES:  PT
In the given figure, ',339 TR and

ZPST = /PRQ. Prove that APQR is

an isosceles triangle.

Q R
A vertical stick 1.2m long casts a shadow 40 em long on the ground, At the
same time a pole 6m high casts a shadow of length x on the ground. FFind the

value of x.

On Independence Day, a teacher brought 135 books and 225 noteonoks for

distribution among children. The teacher wants to stack them in such a way
that each stack has the same number and they take up the least area. What

is the maximum number that can be placed in each stack for this purpose?
SECTION-D
(a)

A part of monthly hostel charges is fixed and the remaining depends on
the number of days one has taken food in the mess. When a student A

(E-3)



student B, who takes food fr 20 days pays 7 1,000 ys }_108{613{2]'—]'11,%(‘.33,
Find the fixed charge and the ¢gst of tood per day.

the management of the hostel should kkeep in inind while preparing the
food for the studen(s.

(322. Prove that V3 Isirrational. Hence prove that 5 _ 23 is an irratipnal number,

Q23. Evaluate without using trigonometric tables :

2 P
COS"20%cas=*70e | .
sec?B50° _ant?qe T < C08eC58° - 2 cotha. (ankae

Q24. (a)  If the mean of the tollowing data s 38.2, find the missing [requency f,

 Class Interva] Frequency

] 0-10 4 f
1043(3 4
20-30 7 N
30-40 [
40-50 12
50-60 8
60-70 5 o

(b)  Ifmedian of the above data is 40, find the mode using empirical formula.

Q25. Prove that - “The Tatlo of the areas of two similar tangles is equal to the

Square of the ratio of heir Corresponding sides”,
Q26. I'ind all the zcroes of the polynomia] +* 4 X'-9x 3%+ 18 it it is piven that twg

of its zeroes are 3 and /3,

G27, Solve graphically the pair of equations :
X+2y=5

Also find the points where the lines meet the x-axis,

(L£-4)



A28. The perpendicular from A on side BC of a AABC intersects BC at D such that
3 =3CD. prove that 2AB” = 2AC” + BC’

A

¥ DG
L B DU B ot o
weds NIy A0S 7 eneoPtana0r - Snon ¥ el

(330. Convert the following distribution to a less than type cumaulative freqguency

distribution and draw its ogive. Hence, obtain the median valuc.

Class Interval 0-100 | 100-2001 200-300 | J00-400 | 400-500 | H00-600

Frequency 8 12 o B e A8 ) 15

ST T e | Ao |

2

Q31. Prove that : (sinQ + cosced)” + (cos8 + scch)” = 7 + tan“0 + cot™)

(E-3)



SUMMATIVE ASSESSMENT-1 [CLASS-X] ' - 3/2018
SUBJECT : SCIENCE (SET-A)

Time ; 3 Hrs. M.M.: 80
General Instructions !

(1

(i)

it

(iv)

(v)

(vi)

(viy)

The question paper comprises of two Sections, A and B. You are to
attempt both the sections. |

Al 'questibns ‘are compulsory. | |
All questicris of Section-A and all questions of Section-B are to be
attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These areé
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section-A are two marks questions. These
are to be answered in about 30 words edach.

Question numbers 7 to 18 in Section-A are three marks questions. These

are to be answered 1n about 50 weords each.

Question numbers 19 to 24 in Section-A are five marks questions. These
are to be answered in about 70 words each. |

(viii) Question numbers 25 to 33 in Section-B are multiple choice guestions

Q2.
03,
Q4.

based on practical skills. Each question is a one mark question, You
are to select one most appropriate response out of the four provided to
You, |

Question numbers 34 to 36 in Section-B are questions based on practical
skills and are two marks guestions.

SECTION-A
Mention two methods to prevent the corrosion of metals.
In domestic clectric circuit, with which wire do we connect a [use?
Name the part of the brain which controls the feeling of hunger and thirst.
Give the role of the following hormones in human body :
(a) Testosteronc (b) Adrenaline

(a) Respiralion is considered as an exolhermic reaction. Give reason,

(b)) Identily the substance oxidised and the oxidising agent in the following

chemical reaction : Fe, O, + 2 Al = ALO, + 2 Fe

(E-1)



Q6.

(7.

ghow with the help of caleulations, which appliance uses more energy - aTV
cet of 250W in 1 hour or @ 1200W toaster in 10 minutes?

e

(a) Write two different Ways of harnessing energy frof 0ceans.

_(b) What is.the usg of shurry left tehind in the digester +ank of a bio gas

Q3.

Q9.

Q10.

Q13.

plant?
A piece of wire of resistance 10£201S stretched so that 1ts length becomes Twice
its original length. Calculate the resistance of the wire in the new situation.
What will be the effect on ils resistivity?
Three 250W heaters drc connected in parallel o & 100V supply. Calculate
(a) (he resistance of each heater.
(h) the total current taken from the supply.

Whal are magnelc feld lines? llow is the direction of magnetic field af a
point on a magnetic field line determined? Mention two important properties
of magnetic field lines. ’

How is nuclear energy generated? State One advantage and one disadvantage

of using nuclear encray.

) (a)  Why docs the cord of an electric heater not glow while the heating element

does when currént passes through it?
(h) Define 5.1 unit of potential ditlerence.

Lead nitrate solution when mixed with snlution ol potassium iodide results 1
the formation of a precipitate.

() Name the precipitate formed.
(b) Whal is the colour of the precipitate formed?
(c) Writea halanced chemical equation for the reactioil involved.

(d) State and define the type of reaction.

Q14.(a) Namea melal which can be casily cut with a knife.

h) A metal & reacts with oxygen gas to form an ampholenc oxide Y.

(1) Identify X and X -
(i) Write the chemical reaction for the conversion of X to X

Q15. (a) Write ihe formula of sodium carbonate. Identify the acid and base from

which this salt can he obtained and state its nature.

(b) Selution of substance ‘@ gives pink colour with phenolphthalein. ldentify
the nature of )
(E-2)



| §

Q186. (a)

=

(b)

lonic compounds are bad conductors of electricity in solid stat bul
conduct electricity in molten siale or on dissolving in water, Explain.

Define Calcination.

@17, Ajay went for a party and ate lol of ~1ood there. After coming back home he
had severe stomach pain. His friend Vijay gave him some medicine and Ajay
felt relieved.

(a)
(b)

()

What could be the cause of stomach pain?
What type of medicine was given by Vijay?

What value is depicted in the above situation?

Q18. Give reasons :

()
[
19, (a)

@20. (a)

(b)
()

Herbivores have longer small intestine than carnivores. |

Walls of trachea do not collapse when there is less air in it.

Vigorous exercise leads (o muscular cramps.

Draw a neat diagram depicting human digestive system and label on it:
gall bladder, liver, pancreas and stomach.

Name the functional unit of kidney, Explain its structure.

Name the plant hormone that detects light, Where is (his hormone
synthesized? Give one example of chemotropic movement in plants,

What are the main steps in (he process of photosynthesis?

Enlist the main function of lymph,

@21. Two resistors, with resistances 100 and 200 respectively are to be connected
lo a battery of 10V so as to obtain (i) minimum current (if) maximum current.

How will you connect the resistances in each case?
Caleulale the strength of total current in the cireuit in the twa Cises,

Name the scientist who discovered that a moving magnet can be used to
generate electric current, With what name is this phenomenon known?

Two coils 1 and 2 of insulated copper wire having large but dilferent
number of turns are wound over a cardboard cyvlinder. Coil 1 is connected
to a battery and a plug key. Coil 2'is connected to a galvanometer. How
will the galvanometer reading change when (i) key is plugded in (if) key
is taken out? Give reason for vour answer.

(E-3)



- Q23. (a) While diluting an acid, why is it recommended that the acid should be
added to water and not water 10 acid?

(h) ‘X is a dmn_pound of caleinm which on heating under controlled
© {emperature of 373K gets converted into a white, soft substance Y.

i  Identify X and Y.

(i) Give two uses of compound Y. |

{if) What happens when “‘1"" is dissolved in.water?
Q24. (a) Show the formation of CaO by c:l'ectrdn dot rc:preéematiﬂn. (Atomic no :

- ca=20,0=8
(b) Explain the electrolytic refining of copper.
|  SECTION-B

| Q25. The paéiti\rc and negative terminal markings are <hown by the [ollowing figures.
Which of the figures will give correct connection?

-1s "_J'I'i':n' T, -

i : e = T TR o e s
Sk iy R i A ; _-—-—-——'“_ . 5 Y o e PR )
ey O S '“| . ]
A
[ |
: l. =1 IJ

5% r_.]
.—'IZL.,_: ' PLJ

BTN

m W 1v)
(@) ligure () . L m) figure (1) and (1V)
(c) figure'(m] | .(d] figure (V)

QQE. n a voltmeter, there are 90 divisions between the 0 mark and 0.5V mark. The
least count of the voltmeter 1s

(@) 0.020V h) 0.025V
(c) 0.050V (d 0.250V
Q27.1n an experiment L0 study the

dependence of current on potential ‘ R T e—

difference across a resistor, a 0.3]" |

student obtained the graph as B !I

shown in the diagram. The value 1 '.l

of resistance of the resistor is % L |

(a) 0.10 g :
| . = 02| -—=m=—m—g i

(h) 14 |

(c) 100 st |

!
(d) 100Q TR 2

\i (volts) —=

' (B-4)
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Q28. A student observed that the colour of pH paper changed to green when she

(J29.

Q31.

Q32.

dipped it in water. She added a few drops of dil. HCI to the water. The colour
of pH paper would turn (o :

(a) light red (h) apple green
() dark blue (d)  lemon yellow
Two beakers A and B contain iron (II) sulphate solution. In beaker A is placed

a small piece of copper and in beaker B is placed a small piece of zine. Tf is
[ound that a grey deposit is formed on zine buf not on copper. From these
ohservations it can be concluded :

() zinc is the most reactive metal followed by iron and then copper.
(b}  zinc is the most reactive metal followed by copper and then iron.

() iron is the mosi reaclive metal [ollowed by zine and then copper.

(d) iron is the most reactive metal followed hy copper and then zine.
Q30.

During the experiment of heating ol terrous sulphate crystals, four students
recorded their observation as :

(i)  green colour of erystals changes to brown
[{i) brown gas is evolved

(iii) blue colour of crystals changes to green
[iv) they could smell burning sulphur.

Which of the above observations arce corrcect?

(a} (i), (i) (b) (i), (iv)
(c) (i), (i) (d) (i), (iv)
In order to complete the given diagram of stomatal

apparatus, nuclei should be drawn in the parts
marked

(a) AandB

(b) AandC

(€). Band C

(d)e A, B and C

What is the right procedure (o remove chlorophyll (rom a deslarched leaf?

(a) Boil the destarched leaf in lime water.
(h) Boil the destarched leaf in alcohol.

(E-3)



() Boil the destarched leal in water only.
(d) Boil the destarched leal in a mixture of alcohol and water.

Q33.In the diagram given alongwith, Blue Black
observations were made after L
testing the leal [or the presence of
starch. The inference that ¢can be
drawn from it is : Photosynthesis
has occured in

(a) portion A only

(b) portion B only -
(c) portions B and C 20 Shiange
(d) all the portions A, Band C
(334, Give two disadvantages ol connecting houschold gppliances in series.
Q35. In the experimental sct up of respiration, identify i;hé labels - 1, 2, 3 and 4.

>

-]

(36. When a student added zinc granules in dil. HCL a colonirless and bdoyrless
oas was evolved.

(a) Identify the gas evolved,
(L) Write a (est to identify the gas evolved.

(E-6)
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SUMMATIVE ASSESSMENT-I (CLASS-X) 572016
SUBJECT : SOCIAL SCIENCE (SET-A

Tiune : 3 Hrs, | M.M.: 90

General Instructions :

L
2.
3.

The question paper has 30 questions in all. All questions are compulsory.

lMarks are indicated against each guestion.

- Questions from serial no. 1 to 8 are very short answer type guastions.

Each question carries one mark,
Questions from serial no. 9 to 21 arc 3 marlks questions, Ansiwer af
these questions should not exceed 80 words each. '

Questions from serial no. 22 to 29 are 5 marks questions. Answer of

these questions should not exceed 120 words each.

Guestion number 30 is a map question gf 3 marks jfrom Geography

~ only. After completion, attach the map inside your answer book.

Q1.
Q2.
Q4.

Q4.

Q5.
Q8.
(7.
08,
(9.

- @ L0,

QL

‘Advertisements ht:lp to create new consumers’. Justify. | (1)
What is rainwater harvesting? | | (1)
State the major difference between r:fndai'zgered and vulnerable species of
plants and animals. | | (1)

Enlist two favourable facmr% I'E‘SpDIlblb].E ft:}.t' the growth of Rabi crops in north

and north-western parts of India. | (Varba=1)
State any two ways to generate e ployment in rural arcas. (Voul=1)
Define the term Infant Mortality Rale. (1)
State any two reasons for resource depletion at the global level.  (Va+Va=1)
Mention the two ways through which federations are formed, (Yotlo=1)

‘The economy of Britain crumbled alter the first world war’. Give three reasons.
(1%3=3)

Why'did some industrialists in the 19th century Europe prefer hand labour

over machines? State three reasons. (1x3=3)

What was the significance of the bpread of PL int culture for Indian women?
| (1xd=d)

2. Explain how Print culture played an important role in the growth of nationalism

in India. _ _ [Tx5=8)

(E-1)



Q183.

Q15.
Q16.

Q17.
G115,

Q19.

Q20.
e
Q22.

Q23.

Q24
Q5.

Q26.

Q27.

28,

029,

'‘Sacred qualities are ascribed lo springs, mountains, peaks, plants and an=.als
by traditional socictics’. As a concerned human heing whal should you do to

conserve the environment? | (1x3=3)

. Name the soil found in the Decean trap region of India. Slale ils two features.

| (1+2=3)
State the characteristic features of commercial agri{;ulmrlf:. (1x:3=13)
‘Multipurpose projects have been opposed for a variely u-f reasons’. List any
Lthree reasons. | [1xd=3)
Explain cross-cutting social differences with an example, (3)
What is communal politics? Explain (he various forms that communalism
can take in polilics. ' | | (1+2=3)
‘The issue of sustainability is imperative for development'. Define sustainable
development and state its signilicance. (1+2=3)
kenlist the inairi provisions of MNREGA-2005. - (Lx3=3)
Briefly describe Primary. Secondary and Tertiary sector activities.  (1x3=3)

(a) What was the Print revolution?

(b) Write a note on the Vernacular Press Act. (1+4=5)

(a) Which phase of industrialisation is known as Proto-industrialisation?

(h) . Why did the poor peasants and artisans agree to work [or tht;‘ merchants
during the Proto-industrialisation phase? (1+4=5)

How are human activitics responsible [or land degradation in India? (1x5=5)

(a) What do you understand by decentralisation?

(b) Mention the advantages of decentralisation of power. (1+4=23)

In modern democracies power is shared ammig governments at different levels
and organs. Explain, | (2Y2+2Y5=5)

Briefly describe different aspects of life in which women face discriminatio,
disadvantage and oppression in India. | | (1xh=D)

Compare and contrast the working conditions in the Drganil‘&ed and
unorganised sectors, | . . * (1%5=5]

(a) Define cconomic development.

(h) List and explain the two indicators of economic develo piment,

AC]  Which of these indicators is more appropriate for comparing development

and why"? ' (1+2+2=5)

(E-2)
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Q30. (1) Two features (A) and (B) are shown on the ouiline political map of India.
ldentity these teatures with the help of [ollowing information and write
Lheir correct names on the lines marked on the map. (1x3=3}

(A) A tea growing state
(B) A t}fpé: of soil |

_[II] On the same political map of India, locate the following :
(C) Hirakud dam

B =

(HEARE .

"-'ml?' 20 oxm
1 I
i

| Ema P30 K (approx)

(E-3)



SA-I (CLASS-X) 0/2016

SURJECT : FRENCH

Time : 3 His. | M.M.: 90

| "Genaml Instmcttﬂns :

i)
(ii)

(ii1)

L,

Read all t he questwns very carefilly.
Write the Serial Number of the question before
attempting it.
Attempt all the questions.
SECTION-A (COMPREHENSION ECRITE)
Lisez le texte et répondez aux questions suivantes .
La Fille Mystérieuse

Jeme rapprlle I'anniversaire de Joélle, ¢'était hier. Joélle
était la fille la plus sympathique de notre classe. Tous
mes Camarades et moi aussi, bien sur, etions amourcus
Jelle. Flle n'était pas seulement sympathigue, clle etait
A11351 Un peu m}’StEﬂEubE Elle habitait dans une sorle
de chateau. a la campagne. Son pere travaillait a
'étranger, $a mere, Personne, ne lavait jamais vue : elle
était loujours malade. disait-on. Joélle n'avait ni [rere
ni sceur., elle vivait avee sa grand-mére et pouvail faire
tout ce quelle voulait. Elle nous disail souvent des
choses hizarres @ <<Un jour, je disparailral, ¢'est une
vieille femme qui me ' a dit, je r.h:-p’fn aitrai le jour des
dix-scpt lumiéres, Quiest-ce-que cest le jour des dix-

sept lumiéres?>> nous demandait-elle, et elle avait 'air
d'avoir peur de disparailre, mais aussi d'étre contenle
de nous f:tam'lez

Le jour de son Anniversaire, (elle ’walt dix-sept ans) nous
avons tous été invites au chateau. La féte avail bien
commencé : beaucoup de lumicres, de musigque. de
honnes choses 4 manger et a boire. A minuit, moins

(1)



G} 1

cing on a apporté un énorme gateau avec dix-sepl
bougies. La musique s'est arrétee. A cc moment-las jai
remarqué que Joelle élail iras nerveuse, cllc regardait
souvent vers les fenétres. et j'ai entendu des bruits
dehors, peut-étre seulement le vent, que je n'avais pas
remarqué a cause de la musique? Joélle sesl ap prochée
du gateau, elle avait une robe blanche trés simple, et
avec Ses yCeux noirs et ses cheveux blonds, elle était la
plus belle du monde. Elle s'est approchée et elle a soulfle
les hougies et alors il y a eu une panne d'électricite. lly
a eu du bruit, des cris. et quand la lumicre estrevenue,
Joélle avait disparul

Un mois plus tard, on fermait le chateau. [l est towjours

fermé et je n'ai jamais revu Joelle.

Répondez aux questions :- (2x1=2]

(i) D'aprés-vous gu'est-ce que cest le jour des chix-
sept lumiéres?

(ii) Qu'est-ce qui s'est passé quand Joélle a soufflé
les bougies?

Dites Vrai ou Faux :- (4 1=4)

(i) Jodlle élait 1a fille la plus sympathigue de notre

classe.
Gi) Elle a disparu le jour de son anniversaire.
(iii) Joélle habitait avec son grand-pére.
(iv) Joélle avait un frére et une saur.
Cherchez dans le texte :- (dx1e=2)
()  Le synonyme de <<trés grand>> N

(i) Le contraire de <<antipathique>>

(i) Le synonyme de c<habitait>>

(iv)] Le contraire de <<jamais>>

(2)



Q4. Complétez avec un mot du texte (2x1=2)
- (1) paul echoue toujours ats eXAMENS _ 50N
= négligence. (a cause de Javee/ alors)

au restaurant parisieil- (souvent /

(i) Maricva
personne/ i 1)

. SRCTION-BE (BXPRE

Ql. F.criver. une lettre denviron SO mots a vo

est au chomage &1 donnant des conseils. (10)

usique dans votre quarlier. Redipex
iron :30 mots pour VOUe cousin/
(5)

SSION ECRITE]
ire amie) gui

Q2. llyauns fete de lam
S une invitation d'env

cousiie.

Q3. Completez c& texte aved donneés ci-dessous.

les mots
| - (5x1=5)

{, aiTives: Lout le monde,

(malheureuﬁemen
projets, nouvelles)

ettre avec de honnes _, Satanie
nez clle de paris. Elle
Lejour delewr  ——

~ 'avionl pst el
7 Finalement, ¢ vol
famille puis ils
duit a la maisoll.

\arise recolt une 1

gt 8€S cousing grriveront ©

commence a faire des __

elle va les chercher 3 'agroportt:
met en cole

retard et Marise se
alue 54 tante el sa

Arrive. MAarisé s
¢ un taxi. Le chauffeur les coml

prefnmnen
parle longtemps.
gle en ordre :- (D)

Q4. Meliez le dialo

Marié C'eslt interessant. A1 Tevolr.
Marie Comment (rouves: tin ton nouvel emploi?
Pauline Salut Marie.
pauline Formidable! J€ guis secrélalre. Cest uil
(ravail ala [ois intellectuel €t manuel Une
ecrélaire a beaucoup 5 faire ; prendre
des notes, rediger des lettres, @apel des
{extes.
Pauline Au TevolLl-
Marie aalut Pauling.

(3)
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SECTION-C (GRAMMAIRE]
Relicz avec un pronom rélatil compose (51{1 5)

()  Lisez ce roman. Iy a beaucoup de suspens dars
ce Tomarl,

[ii] Nous avons visite 'organisatior. Notre irére
- +ravaille pour cette erganisation. |

(iii) - - Cette route dale (e Napoléon. Vous Eulfr‘.f ]3’155%1’
par cette route.

(iv) C'est un climal trop rude.Tuncs pas fait pour ce
climet,

() . Lalibraire sc trouve & Paris. Je Uen ai parlé hier.

. Complétez ces phrases en atilisant un adjectif

démonstratif ou un pronom démonstratil :- (10x%= 5

(i) -~ photo est plus claire que =

(i) _ enfants sont plus polis que de
Mme Vasanthi.

(i) @uels romans veux-lu lire ou ?

(iv) © Les meubles de © salon sont beaux, mais

peintures ne sont pas jolics.

(v] Ne prends pas . prends !

Remplacez les noms par ics pronoms personnels :-
(bx1=5)

() Marc n'aime pas la viande.

(ii) Ces livres sont trés intéressanis.

(iii) Je ne téléphonc pas 4 mon oncle.

(iv) Tu reviens du burcau?

(v) Jeveux aller ala gare.

Corrigez cing fautes et récrivez i- [Bxl=8]

[ année dernier, Valérie est sa famille sont allées en
Lyon. [1s sont passé une semaine chez son oncle. Elles
se sont y bien amusées,

(4)



Qs

Q6.

Q1.

Trouvez la question - (3x1=5)
(i) Si, clle est ahsente aujourd huy,

(i) - Ils voyagent en avion.

(iii) Nous mangeons des burgers,

(

iv)] Ilvaa Paris aver Ses amis.

(v)  Je reviens du bureau.

Completez avec un article partitif ou contractc - (5x1=5)

(i)  Lesfilles voisine sont si belles.

(i) Va_ cinéma regarder le film!

(i)  Je vais boire café,

(v) Jachéte dupain boulangerie.

(v)  Donnez-moi y eau!
Mettez les verbes ayx temps convenahle -- (5x1=5H)
()  Demain, aussitét quej’ (aurai recu/aurais

recu/recevrai) mon passeport, je te téléphonerai.

(i . __ (Voulez/ VELl.ilIf:z/Vouliezj remplir ceiile
fiche, s'1l vous plait!

({if) Iy a dix minutes que le train (va partir/
vient de partir/ partira) de la gare.
(iv)] . Hier Marie s'est levée dUussilot que son réveil
(sonnera/a sonné/avait sonné).

(v)]  Pierre _(tait/ féifﬁiﬁr/f@:ﬁ"} lé menage tous les
jours.

SECTION-D (CULTURE ET CIVILISATION)
Repondez aux questions suivantes (6x2=10)

(i) Comment esl I'enseignement en France”

() Enumérez quelques obj f:rs'qu’f}_ﬂ' peut trouver dans
un bureau,

(i)  Quelles sont les [ormalités pour aveir une carte
de lecteur?

(5)



(iv) Quelles sont les differentes parties dun C.V.?
(v) Quelles sont les dlﬁETEHtEb rnibriques d un
journal? |
Q2. Dites Vral ou Faux: . w1 (4‘4154]' :
(i) Un bon éléve dﬂlt toujours ouhlier ses livres.
[iil] | H nauf faire le yoga POUL avoir moins de slress.
‘[iii] 11 faut lire les journaux pour s 'informer.

(iv) Pour obtenir de bons résultats au bac il faut

voyager beaucoup.
QB. Reliez les colonne A et B et récrivez - (6x1e=3)
Al B
(i) Corse (a) Universite

(i) Le Petit Prince (b) ~ ‘LeLycée
(i) Jacques Prevert  (c)  Antoine de St. Exupery
(v) Jean Vilar (d) Paroles

‘(v) Le baccalauréat (e) Une petite dlc

(vi) Sorbonne () festival de théatre

Q4. Choisissez? 1a bonne mpome pcm.l completer ces
phrases:- (3x1=3)
1) TVBestune francaise diﬁlﬂonible enn Inde.,

(chaine/ télevision /radio)

(i) ~ est un journal quotidien [rancais. (Le
Vonde/L'Express/Lametés)

(i) ~ est un muséc a Pars. (Le louvre/La
publicité/Le Figaro)
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